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4) {yly = -1/12} 44) {x| -17/3 < x < 3}
12) {x|-5<x <3} 48} {x| x< -5/2or x > 15/2}
20) {x| -1 <x <2} ) &

22)) {x| 7/4 < x < 13/6}

28) {x|x<-3orx 2-7/5}
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From Text, pg 250 do together tn class
62. Income Plans. Karen canbe paid in one of two ways for selling insurance policies:

Plan A: A salary of $750 per month, plusa commission of10% of 5:(11:2,5;;4()(.):75> '/' ./BX

Plan B: A salary of $1000 per month, plus a commission of 8% of sales in excess of $2000

Blx)= oo 1 8 (x-201)

For wha monthly saleglis plan A better than plan B if we canassume that sales are

ciiwaysmor'e than $2000? P'a-v\-/l* >F-éﬂ«\6
(£h X = @mound g menihly Saky-
AlxY >6(x)
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7so+./0X —[/MO t.og(X ’3”")1%
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—23b +.pX — 08X 1 /60 >0

- 90 +.0ax >0
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X 9500
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fhan plan.
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63. IncomePlans. Curt canbe paid in one of two ways for the furniture he sells:
Plan A: A salary of $900 per month, plusa commission of 10% of sales;
PlanB: A salary of $1200 per month, plus a commission of 15% of sales in excess of $8000

it we can assume that Curt's sal

Sales of $180000r
more p)an’B N
e trer

For what amount of monthly sales is plan B better than pl
are always more than $8000?

PlanA: y=900+. Ix
Plar®: Y= 1200+ I5(X-$000)
1200+.15X = \200X 2 400+ 1X

0HX =400
X=> [§000
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Solve for x. Show all work as demonstrated in class. Include number line graphs when required.

| o _
XS.A ?_ 21 x_D X“# OJ 2
x“+2x X

X(XTD(E x+4 1 X#O'_
S = () XX+4) + |
5= X=5%X+5

X245X=0
X(0+5)=0  3-5¢
=0 X=-9J

X2+ax= | +(X+D(x-1)
XHAX =) +XZ+X—2
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s (x-3o-z)”

X2-pX+9 = 30-2 X

X=4X—=21=0
(x—7)(x+3)=0 ‘27’)2
X=7 X=-3
vV 7-3-8B0m -3-3={30%
Y=’ - 0=13b
4t ~b#b

4. Exid-Exsi-1 R
(3T F (7% +1)
X+ = 2X+] + 2 OXF "+
(&~ DH22%)’
X2HUX+4 = 42X+
X*=4x =0
X(x-$H)=0

fo.45
X=0 x=Y

J-3+ =1
y-35 |

,.—‘:’ |= |
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B, 9+2x«7 or7-5x«-8

IX-2 | -SX£-15
x4l X2 3

D

T g

zx]xélor x23§
(oo> D v [3°0>

6. Dx+10<-4x-17¢9-2x
Sx+l0Ltx- 11 And —4X-17%2x
qx< -27 -2%< 20
X< -3 X >-13

(—%*A—A«ZO——)
IX |- l3<><j'3}

(-13,-3]

%
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7. —%(7;:—2) -6

TNERTSY)
_ 4> 14
X< - |

%ve@——>
IXIx <~ 13
Ol )

8. —(5x 9)+4=-2
—L(sx—q) -6
AX-9 = | §
5x 2277
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9. 4|6-2x|+8<24

4b-2x| £ I
|b-2x| 4 4

b-2%< Y |-6+2Xx<Y
_IX< -2 2X< 10
X2 | X£ 3

NI e PN

x| | x& 58

T 0s)

10. |2x+5|-6>-5
IX+5]2 |
-2Xx=-5=2
-2X2 (o
X<£-3

b —4
Ix|%xe-30r X>'2}
(o, 31U (-2,0)
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1. |1-4x]>-3
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